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Horticultural Practices: Propagation and Pruning - EXAM
Mark the correct answer to each question. 

Multiple Choice: 4 points each

	1. Plants may reproduce sexually, with seeds, or asexually. Some plants must be reproduced asexually because
A. Nothing will pollinate the plant
B. The plant produces no seeds
C. A hybrid plant can result
D. Asexual reproduction is cheaper
2. Many commercial horticulture operations produce plants asexually. One reason behind this is that producers
A. Are always cutting costs in a highly competitive market
B. Find it easier to produce plants asexually
C. Can guarantee health and growth rate because they are a clone from a superior, exemplary parent
D. Want to keep pollinating insects away from customers
3. Sally wants to create a field full of wildflowers in her pasture. She doesn’t have a lot of extra time to devote to this project. The best way for Sally to create her patch of wildflowers is to
A. Take cuttings from wildflowers that she likes and propagate them in a greenhouse
B. Start her wildflowers from seeds and then transplant them to the field
C. Call a local landscaper to do it for her
D. Spread wildflower seeds before a light rain

	4. George is a novice flower gardener, but doesn’t enjoy all the insects buzzing around his pretty flowers in the spring. He sprays insecticide early to get rid of the problem. What will most likely happen to next year’s flowers?  
A. There will be much less because insects are important pollinators
B. There will be many more since insects rob plants of important nutrients
C. They will be bigger and brighter because they will have more energy
D. They will die because insects bring flowers nutrients
5. Mrs. Hoffer buys fruits without seeds, like grapes, watermelons, and oranges. The term for a fruit that naturally occurs seedless is
A. apomixis
B. parthenocarpy
C. vivipary
D. double-fertilized
6. The Ag 101 students are going to plant bluebonnets from seed as part of a school-wide campus beautification project. They know that the seeds have seed coat dormancy, or hard-seededness. How will they overcome this when planting?
A. stratification, store in a cool, dry environment
B. scarification, crack or break the seed coat
C. nothing, the seeds will come up
D. expose to bright light


	
	


	7. When referring to seed dormancy, double dormancy is defined as
A. the seed takes twice as long to sprout
B. two plants will sprout from one seed
C. the seed must be stratified, then scarified in order to sprout
D. the seed must be stored in a bright and dry environment
8. Ross takes a stem cutting of an ornamental rubber tree. When he sticks it in water with a little rooting hormone, roots eventually form. These roots are called

A. Secondary roots

B. Advantageous roots

C. Cutting roots

D. Adventitious roots

9. Jacob is performing a science experiment on the new growth of leaf cuttings. What should Jacob expect from his leaf-petiole cutting?
A. Secondary roots
B. Adventitious roots
C. Secondary roots and shoots
D. Adventitious roots and shoots
10. A chimera is ‘mutant’ plant which has stripes or patterns on its leaves that are yellow or white. This is due to a lack of ______ and is commonly called ______.
A. Chlorophyll, variegated
B. Nitrogen, variegated
C. Chloroplasts, camouflaged
D. Correct soil, vasculated

	11. when performing an air-layer on a woody plant or gymnosperm, Cathy must cut
A. 1/3 of the way through the stem
B. Through the xylem but not the phloem
C. All the way through the stem to circulate enough air
D. Through the phloem but not the xylem
12. The following picture is an example of a/an
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A. Air layer
B. Simple layer
C. Tip layer
D. Serpentine layer

	
	


	13. Spurlock Farms uses grafting on their apple trees each year. Grafting is
A. Cutting the roots of a plant so that it grows more slowly
B. Stripping the leaves of a plant so that new leaves can grow
C. The joining of separate plant parts, so that they form a union and grow as a single plant
D. So easy, even a caveman can do it
14. Henry wants to know whether or not he should begin a graft on his favorite rosebush. Which of the following is not a reason for grafting?
A. Time to flowering or fruiting is decreased; bypass the juvenile phase of growth
B. To repair damage
C. To control weeds
D. To produce desirable traits such as ornamental or disease resistance
15. Peggy has an old tree in her back yard which has a very weak limb – almost touching the ground. She is worried that it might break. Which of the following should Peggy do to fix this?
A. Brace it with a board
B. Perform a brace graft
C. Perform a saddle graft
D. Perform a side graft
16. Becky is pruning her crepe myrtle tree. It has gotten thick and overgrown, so she is cutting limbs at their point of origin. What is Becky doing?
A. Heading back
B. Removing trash limbs
C. Hurting the tree
D. Thinning out

	17. Every spring, James trims his mother’s hedges in front of her house in the form of heading back. As a result, her hedges get thicker and thicker each year. Which of the following describes what James does? 

A. Uses lots of fertilizer

B. Cutting just the tips of the branches off

C. Removing excessive flower buds

D. Removing branches at their point of origin
18. Which of the following is an objective of pruning?
A. Health and safety
B. Maintain correct root-shoot ratio
C. Maintain desired form
D. All of the above
19. Joe has a tree limb about the thickness of his arm that he would like to remove. What is the correct way to prune this limb?
A. Cut straight through from the top down
B. Cut straight through from the bottom up
C. Use the 3-cut method, or target pruning
D. Wait until it dies, then break it off
20. Mark needs to prune many plants at his new house. Generally, the best time to prune is
A. The beginning of spring, just after the last freeze
B. The beginning of fall, just before the first freeze
C. In the middle of summer, when eggs boil on asphalt
D. During winter when the plants are dormant



Use complete sentences and correct grammar to complete the following short answer and essay questions. Short answers should be 2-4 sentences.
Short answers: 5 points each.
21. In lab, we used two different methods to propagate cuttings. Name and describe them. 

	________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________


22. Each day that we worked on our cuttings, we talked about totipotency. Define/explain totipotency. 
	________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________


23. Quietly and without talking, go look out the window and find one example of pruning that you see. Name the type of pruning, describe it, and tell why it was done. 
	________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________


Essay: 10 points

24. Describe the steps taken in lab to complete an air layer. Be sure to include materials needed, steps performed, and the amount of time it took for important steps. Also discuss the success rate of the class and why you think it ended up that way. 
	


